210mm

210mm

148mm

BAXER

HHEE
112mm

FRBIREE
2.5mm

TWERERYT

25.5%25.5mm

DRRERYT

RIFEREZ
65.5mm

8
709

4*M2 EQS $9mm/p12mm

@ M2*5 75 ESLIRL x2
@ M2*8 AT ELIZL x2
@ M2*4 N7 FAFESLIEL x4

@ M2*10A75fiT LR x2
@ M2*10R73 AT SLIR L x4
@ M2*6 75T SLIRL x4
@ M2*8 7 AT SLIR L x4

O M2*6 N FRITTKIREL x4

Specification

Wheelbase
112mm

Top Plate Thickness
2.5mm

FC Mounting
25.5%25.5mm

Motor Mounting

Whoop Duct Diameter

65.5mm

Weight
709

4*M2 EQS $9mm/p12mm

(D M2*5 Hex Button Head Screws x2
(@ M2*8 Hex Button Head Screws x2
(3 M2*4 Hex Button Head Screws x4

(D M2*10 Hex Flat Head Screws x2
@ M2*10 Hex Flat Head Screws x4
(3 M2*6 Hex Flat Head Screws x4
(@ M2*8 Hex Flat Head Screws x4

(D M2*6 Hex Flat Head Screws x4




